

OSCILLATION AND NONOSCILLATION OF NONLINEAR SECOND ORDER DIFFERENCE EQUATIONS

M. M. A. EL-SHEIKH, M. H. ABD ALLA AND E. M. EL-MAGHRABI

ABSTRACT. In this paper, we study oscillation and nonoscillation behaviour of the second order nonlinear difference equations of the form

$$\Delta(r_n\psi(x_n)\Delta x_n) + q_{n+1}f(x_{n+1}) = 0, \quad n \in N(n_o),$$

and

$$\Delta(r_n\psi(x_n)\Delta x_n) + q_n f(n, x_n) = 0, \quad n \in N(n_o),$$

where $N(n_o) = \{n_o, n_o + 1, \dots\}$, (n_o is a fixed nonnegative integer number), $\Delta x_n = x_{n+1} - x_n$ is the forward difference operator, $x : N(n_o) \rightarrow \mathbb{R}$, $r : N(n_o) \rightarrow (0, \infty)$, $\psi : \mathbb{R} \rightarrow (0, \infty)$, f is a real valued continuous function, and $\{q_n\}$ is a sequence of real valued.

AMS Mathematics Subject Classification: 39A11

Key words and phrases: Oscillation and nonoscillation, Asymptotic behaviour of solutions, Nonlinear second order difference equations.

1. Introduction

In recent years, there has been an increasing interest in the study of oscillation and asymptotic behaviour of solutions of nonlinear difference equations, see for example ([1], [3], [4], [10], [11], [13], [14]) and the references cited therein. In [3], [7] and [8], the authors have dealt with oscillation of the difference equation

$$\Delta(r_n\Delta x_n) + f(n, x_n) = 0, \quad n \in N(n_o).$$

The aim of this paper is to obtain a new criteria for oscillation and nonoscillation of the general difference equations

$$\Delta(r_n\psi(x_n)\Delta x_n) + q_{n+1}f(x_{n+1}) = 0, \quad n \in N(n_o), \quad (1)$$

and

$$\Delta(r_n\psi(x_n)\Delta x_n) + q_n f(n, x_n) = 0, \quad n \in N(n_o), \quad (2)$$

Received August 23, 2004. Revised March 29, 2005.

© 2006 Korean Society for Computational & Applied Mathematics and Korean SIGCAM.

where $N(n_o) = \{n_o, n_o + 1, \dots\}$, (n_o is a fixed nonnegative integer number), $\Delta x_n = x_{n+1} - x_n$ is the forward difference operator, $x : N(n_o) \rightarrow \mathbb{R}$, $r : N(n_o) \rightarrow (0, \infty)$, $\psi : \mathbb{R} \rightarrow (0, \infty)$, f is a real valued continuous function and $\{q_n\}$ is a sequence of real valued. Section 1 consists of a brief introduction and review of relevant material. In Section 2 we discuss a new sufficient condition for oscillation of all solutions of the second order nonlinear difference equations of type (1). In section 3 we present several necessary and sufficient conditions for nonoscillation of solutions of (2). A nontrivial solution of (1) or (2) is said to be oscillatory if for every $n_o \in N(n_o)$ there exists $n \geq n_o$ such that $x_n x_{n+1} < 0$ ([1], p. 322). Otherwise, it is called nonoscillatory.

2. Oscillation of nonlinear difference equations

In this section we give sufficient conditions for oscillation of solutions of equation (1) with oscillating coefficients q_n . Our results in this section improve and partially generalize some results of Thandapani, et al [9] and Zhang, et al [14].

Through this section, we assume that

(I) $f : \mathbb{R} \rightarrow \mathbb{R}$ is nondecreasing function, $xf(x) > 0$, $x \neq 0$.

(II) $\lim_{n \rightarrow \infty} \sum_{l=n_o}^n \frac{1}{r_l \psi(x_l)} = \infty$, for $n \in N(n_o)$.

The following Lemmas will be needed in this section.

Lemma 1. Suppose that $\{x_n\}$, $n \in N(n_o)$, is a nonoscillatory solution of (1). If there exists an $n_1 \in N(n_o)$ such that

$$-\frac{r_{n_o} \psi(x_{n_o}) \Delta x_{n_o}}{f(x_{n_o})} + \sum_{l=n_o}^{n-1} q_l + \sum_{l=n_o}^{n_1-1} \frac{r_l \psi(x_l) \Delta x_l \Delta f(x_l)}{f(x_l) f(x_{l+1})} \geq m, \quad (3)$$

where $m > 0$ and $n \in N(n_o)$. Then

$$(1) \quad r_n \psi(x_n) \Delta x_n \leq -m f(x_{n_1}), \quad \text{when } \{x_n\} \text{ is a positive, } n \in N(n_1), \quad (4)$$

$$(2) \quad r_n \psi(x_n) \Delta x_n \geq -m f(x_{n_1}), \quad \text{when } \{x_n\} \text{ is a negative, } n \in N(n_1). \quad (5)$$

Proof. From (1), it is clear that

$$\frac{\Delta(r_n \psi(x_n) \Delta x_n)}{f(x_{n+1})} = -q_{n+1}, \quad \text{for } n \in N(n_o).$$

Then

$$\Delta \left[\frac{r_n \psi(x_n) \Delta x_n}{f(x_n)} \right] = -q_{n+1} - \frac{r_n \psi(x_n) \Delta x_n \Delta f(x_n)}{f(x_n) f(x_{n+1})}. \quad (6)$$

Summing (6) from n_o to $n - 1$, we have

$$\sum_{l=n_o}^{n-1} \Delta \left[\frac{r_l \psi(x_l) \Delta x_l}{f(x_l)} \right] = - \sum_{l=n_o}^{n-1} q_{l+1} - \sum_{l=n_o}^{n-1} \frac{r_l \psi(x_l) \Delta x_l \Delta f(x_l)}{f(x_l) f(x_{l+1})},$$

we get

$$-\frac{r_n \psi(x_n) \Delta x_n}{f(x_n)} = -\frac{r_{n_o} \psi(x_{n_o}) \Delta x_{n_o}}{f(x_{n_o})} + \sum_{l=n_o}^{n-1} q_{l+1} + \sum_{l=n_o}^{n-1} \frac{r_l \psi(x_l) \Delta x_l \Delta f(x_l)}{f(x_l) f(x_{l+1})}. \quad (7)$$

By (3) and (7), we get

$$-\frac{r_n \psi(x_n) \Delta x_n}{f(x_n)} \geq m + \sum_{l=n_1}^{n-1} \frac{r_l \psi(x_l) \Delta x_l \Delta f(x_l)}{f(x_l) f(x_{l+1})}. \quad (8)$$

But since by (I), it follows that the sum of the right hand side of (8) is positive. Hence

$$x_n \Delta x_n < 0, \quad \text{for } n \in N(n_1).$$

Now we have one of the two possibilities $\{x_n\}$ is positive or negative. Suppose first that $\{x_n\}$ is positive. Setting $-r_n \psi(x_n) \Delta x_n = w_n > 0$. Hence (8) becomes

$$\frac{w_n}{f(x_n)} \geq m - \sum_{l=n_1}^{n-1} \frac{w_l \Delta f(x_l)}{f(x_l) f(x_{l+1})}. \quad (9)$$

Now suppose that

$$\frac{v_n}{f(x_n)} = m - \sum_{l=n_1}^{n-1} \frac{v_l \Delta f(x_l)}{f(x_l) f(x_{l+1})}. \quad (10)$$

Furthermore, using induction, we can prove that $w_n \geq v_n$ for all $n \in N(n_1)$. Taking the difference operator on both sides of (10), we find

$$\Delta \left(\frac{v_n}{f(x_n)} \right) = \frac{\Delta v_n}{f(x_{n+1})} + v_n \Delta \left(\frac{1}{f(x_n)} \right) = -\frac{v_n \Delta f(x_n)}{f(x_n) f(x_{n+1})}.$$

Hence

$$\frac{\Delta v_n}{f(x_{n+1})} = 0, \quad f(x_{n+1}) \neq 0.$$

This implies that $\Delta v_n = 0$. Therefore $v_n = v_{n_1} = m f(x_{n_1})$, for $n \in N(n_1)$. Hence

$$r_n \psi(x_n) \Delta x_n \leq -m f(x_{n_1}), \quad n \in N(n_1).$$

The proof for the case when $\{x_n\}$ is negative follows from similar arguments by taking $r_n \psi(x_n) \Delta x_n = w_n > 0$. \square

Theorem 1. Let $\{x_n\}$, $n \in N(n_1 - 1)$, be a solution of Eq (1)

(i) If $\{x_n\}$ is a nonoscillatory solution of Eq (1) and $\liminf_{n \rightarrow \infty} \sum_{l=n_1}^n q_l > -\infty$,
then

$$\sum_{l=n_1}^{\infty} \frac{r_l \psi(x_l) \Delta x_l \Delta f(x_l)}{f(x_l) f(x_{l+1})} < \infty. \quad (11)$$

(ii) If $\lim_{n \rightarrow \infty} \sum_{l=n_1}^n q_l = \infty$, then every solution of Eq (1) is oscillatory.

Proof. (i) For the sake of contradiction, assume that

$$\sum_{l=n_1}^{\infty} \frac{r_l \psi(x_l) \Delta x_l \Delta f(x_l)}{f(x_l) f(x_{l+1})} = \infty.$$

Since by assumption $\liminf_{n \rightarrow \infty} \sum_{l=n_1}^n q_l > -\infty$, then there exists $n_1^* \geq n_1$ such that

(3) holds. For the case $\{x_n\}$ is positive and by Lemma 1, we obtain

$$r_n \psi(x_n) \Delta x_n \leq -m f(x_{n_1}^*), \quad \text{for } n \geq n_1^*.$$

But since $m > 0$ and $\psi(x_n)$ is positive for $n \in N(n_1^*)$, then we have

$$\Delta x_n \leq -m f(x_{n_1}^*) \left(\frac{1}{r_n \psi(x_n)} \right).$$

Then

$$\sum_{l=n_1^*}^{n-1} \Delta x_n \leq -m f(x_{n_1}^*) \sum_{l=n_1^*}^{n-1} \frac{1}{r_l \psi(x_l)},$$

i.e.,

$$x_n \leq x_{n_1^*} - m f(x_{n_1^*}) \sum_{l=n_1^*}^{n-1} \frac{1}{r_l \psi(x_l)}. \quad (12)$$

The right hand side of (12) tends to $-\infty$ as $n \rightarrow \infty$, while the left side is positive. This is a contradiction. The proof for the case $\{x_n\}$ is negative is similar.

(ii) Suppose the contrary that, there exists a positive nonoscillatory solution of (1) say $\{x_n\}$ for all $n \geq n_1$, then the condition of Lemma 1 is satisfied. Thus we have

$$\Delta x_n \leq -\frac{m f(x_{n_1})}{r_n \psi(x_n)}, \quad \text{for } n \geq n_1. \quad (13)$$

Now taking the sum of (13), from n_1 to $n-1$, we get

$$x_n \leq x_{n_1} - m f(x_{n_1}) \sum_{l=n_1}^{n-1} \frac{1}{r_l \psi(x_l)}. \quad (14)$$

Taking the limit of (14) as $n \rightarrow \infty$, we get $x_n \rightarrow -\infty$. This is a contradiction. The case of $x_n < 0$, the proof is similar and hence it is omitted. \square

Lemma 2. *Assume that*

$$(A_1) \lim_{|x| \rightarrow \infty} |f(x)| = \infty, \quad (A_2) \lim_{n \rightarrow \infty} \sum_{l=n_0}^n q_l \text{ exists.}$$

If $\{x_n\}$ is a nonoscillatory solution of (1). Then

$$\frac{r_n \psi(x_n) \Delta x_n}{f(x_n)} = \sum_{l=n}^{\infty} q_{l+1} + \sum_{l=n}^{\infty} \frac{r_l \psi(x_l) \Delta x_l \Delta f(x_l)}{f(x_l) f(x_{l+1})}, \text{ for } n \in N(n_0). \quad (15)$$

Proof. The proof is similar to the proof of Lemma 2.2 in [14], and so it is omitted. \square

Theorem 2. *Let (A₂) be satisfied. Suppose that*

$$(A_3) 0 < \int_{\epsilon}^{\infty} \frac{dy}{f(y)}, \quad \text{and} \quad \int_{-\epsilon}^{-\infty} \frac{dy}{f(y)} < \infty, \text{ for all } \epsilon > 0;$$

$$(A_4) \lim_{n \rightarrow \infty} \sum_{l=n_0}^n \frac{1}{r_l \psi(x_l)} \sum_{i=l+1}^{\infty} q_i = \infty.$$

Then every solution of (1) is oscillatory.

Proof. Suppose this is false. Without loss of generality, let $\{x_n\}$ be an eventually positive solution of (1). Then by Lemma 2 and condition (I), we obtain

$$\sum_{l=n}^{\infty} \frac{r_l \psi(x_l) \Delta x_l \Delta f(x_l)}{f(x_l) f(x_{l+1})} \geq 0.$$

Thus

$$\frac{r_n \psi(x_n) \Delta x_n}{f(x_n)} \geq \sum_{l=n}^{\infty} q_{l+1}, \quad \text{for } n \in N(n_0),$$

i.e.,

$$\frac{\Delta x_n}{f(x_n)} \geq \frac{1}{r_n \psi(x_n)} \sum_{l=n}^{\infty} q_{l+1}, \quad \text{for } n \in N(n_0). \quad (16)$$

The sum of both sides of (16) from n_0 to n , we obtain

$$\sum_{l=n_0}^n \frac{\Delta x_l}{f(x_l)} \geq \sum_{l=n_0}^n \frac{1}{r_l \psi(x_l)} \sum_{i=l+1}^{\infty} q_{i+1}. \quad (17)$$

Define $g(t) = x_l + (t-l)\Delta x_l$, $l \leq t \leq l+1$. Then we have one of the following two cases.

Case 1. If $\Delta x_l \geq 0$, then $x_l \leq g(t) \leq x_{l+1}$. Thus in view of the assumption (I), we get

$$\frac{\Delta x_l}{f(x_{l+1})} \leq \frac{g'(t)}{f(g(t))} \leq \frac{\Delta x_l}{f(x_l)}. \quad (18)$$

Case 2. If $\Delta x_l < 0$, then $x_{l+1} \leq g(t) \leq x_l$. So we can directly obtain (18). Now by (17) and (18), we get

$$\int_{g(n_o)}^{\infty} \frac{ds}{f(s)} \geq \int_{n_o}^{n+1} \frac{dg(t)}{f(g(t))} \geq \sum_{l=n_o}^n \frac{1}{r_l \psi(x_l)} \sum_{i=l+1}^{\infty} q_{i+1}. \quad (19)$$

Let $G(y) = \int_y^{\infty} \frac{dy}{f(y)}$, then

$$G(g(n_o)) \geq \sum_{l=n_o}^n \frac{1}{r_l \psi(x_l)} \sum_{i=l+1}^{\infty} q_{i+1}.$$

This contradicts condition (A_4) . Similarly, one can prove that (3) does not possess eventually negative solution. \square

3. Nonoscillatory behaviour of solutions

In this section, we discuss nonoscillatory behaviour of solutions of (2). We assume that $\psi(x)$ is nondecreasing in x . Let $\{q_n\}_{n=n_o}^{\infty}$ be a positive sequence of real numbers. Our results partially generalize those of [7].

Through this section, we assume that the condition (II) holds, and

$$(III) f(n, x) > 0 \text{ for all } (n, x) \in N(n_o) \times (0, \infty).$$

Before stating our results we give the following result of [2] which considered as a discrete analog of Schauder's theorem.

Lemma 3. ([2]) *Let k be a closed and convex subset of l^{∞} . Suppose that T is a continuous map such that $T(k)$ is contained in k , and suppose further that $T(k)$ is uniformly Cauchy. Then T has a fixed point in k .*

Now we give the following results.

Lemma 4. *Let $\{x_n\}_{n=n_o}^{\infty}$ be an eventually positive solution of (2). Then there exist two positive constants c_1 , c_2 and $s \in N(n_o)$ such that $\{x_n\}$ is monotonically increasing and*

$$c_1 \leq x_n \leq c_2 \mathbb{R}_{s, n}(c_1), \text{ for } n \in N(s),$$

where

$$\mathbb{R}_{s, n}(c_1) = \sum_{k=s}^{n-1} \frac{1}{r_k \psi(c_1)}.$$

Proof. Since $\{x_n\}$ is an eventually positive solutions of (2). Then there exists an $s \in N(n_o)$ such that $x_n > 0$ for $n \in N(s)$. It follows from (2) and (III) that

$$\Delta(r_n\psi(x_n)\Delta x_n) < 0,$$

i.e.,

$$x_{n+2} < x_{n+1} + (\Delta x_n) \frac{r_n\psi(x_n)}{r_{n+1}\psi(x_{n+1})}, \quad n \in N(s), \tag{20}$$

If there exists an $n_1 \in N(s)$ such that $x_{n_1+1} \leq x_{n_1}$, then it follows from (20) that $x_{n+2} < x_{n+1}$ for all $n \in N(n_1)$. This means that $\{x_n\}$ is eventually decreasing. But since by (20) and (II), it follows that

$$x_n \leq x_s + r_{s-1}\psi(x_{s-1})\Delta x_{s-1} \sum_{k=s}^{n-1} \frac{1}{r_k\psi(x_k)}. \tag{21}$$

It follows by (II) that $\{x_n\}$ is an eventually negative when n is large enough. This contradicts the fact that $\{x_n\}$ is eventually positive. Therefore $\{x_n\}$ is eventually increasing and the sequence $\{r_n\psi(x_n)\Delta x_n\}$ is positive. Since $x_n > 0$, and $\psi(x_n)$ is nondecreasing for $n \in N(s)$, then there exists $c_1 > 0$ such that $c_1 \leq x_n$ for $n \in N(s)$. Thus

$$\sum_{k=s}^{n-1} \frac{1}{r_k\psi(x_k)} \leq \sum_{k=s}^{n-1} \frac{1}{r_k\psi(c_1)}. \tag{22}$$

Therefore, the relation (21) becomes

$$x_n \leq x_s + r_{s-1}\psi(x_{s-1})\Delta x_{s-1} \sum_{k=s}^{n-1} \frac{1}{r_k\psi(c_1)}, \tag{23}$$

i.e.,

$$x_n \leq c_2 \mathbb{R}_{s,n}(c_1),$$

where c_2 is a positive constant. □

Theorem 3. *If any nonoscillatory positive solution of (2) belongs to K_α^0 , and $f(n, x)$ is nonincreasing, then*

$$\sum_{k=n_o}^{\infty} \frac{1}{r_k\psi(c)} \sum_{i=k}^{\infty} q_i f(i, c) < \infty, \quad \text{for } c > 0. \tag{24}$$

where $K_\alpha^0 : x_n \rightarrow \alpha, \quad r_n\psi(x_n)\Delta x_n \rightarrow 0, \quad (n \rightarrow \infty)$.

Proof. Let $\{x_n\}$ be any nonoscillatory positive solution of (2) belongs to K_α^0 . Since $x_n > 0$, then $\alpha > 0$, and there exist two positive constants c_1, c_2 and an $s \in N(n_o)$ such that

$$c_1 \leq x_n \leq c_2 \quad \text{for all } n \in N(s). \tag{25}$$

On the other hand, by (2) we get,

$$r_n \psi(x_n) \Delta x_n + \sum_{k=m}^{n-1} q_k f(k, x_k) = r_m \psi(x_m) \Delta x_m, \quad (26)$$

for $m \in N(s)$ and $n \in N(m)$. Taking the limit as $n \rightarrow \infty$ on both sides of (26), and using K_α^0 , we obtain

$$r_m \psi(x_m) \Delta x_m = \sum_{k=m}^{\infty} q_k f(k, x_k). \quad (27)$$

But since by (27) we get,

$$x_m = x_s + \sum_{k=s}^{m-1} \frac{1}{r_k \psi(x_k)} \sum_{i=k}^{\infty} q_i f(i, x_i). \quad (28)$$

Thus it follows by taking the limit as $m \rightarrow \infty$ on both sides of (28) that

$$\sum_{k=s}^{\infty} \frac{1}{r_k \psi(x_k)} \sum_{i=k}^{\infty} q_i f(i, x_i) < \infty. \quad (29)$$

But since $x_n > 0$, f is nonincreasing, and ψ is nondecreasing. Thus by (25) we have

$$\sum_{i=k}^{\infty} q_i f(i, c_2) \leq \sum_{i=k}^{\infty} q_i f(i, x_i), \quad \text{and} \quad \frac{1}{r_k \psi(c_2)} \leq \frac{1}{r_k \psi(x_k)}$$

Then

$$\sum_{k=n_o}^{\infty} \frac{1}{r_k \psi(c_2)} \sum_{i=k}^{\infty} q_i f(i, c_2) \leq \sum_{k=n_o}^{\infty} \frac{1}{r_k \psi(x_k)} \sum_{i=k}^{\infty} q_i f(i, x_i),$$

i.e., the inequality (24) holds. \square

Theorem 4. Assume that $f(n, x)$ is nonincreasing. If

$$\sum_{k=n_o}^{\infty} q_k f(k, a) < \infty, \quad \text{for some } a > 0, \quad (30)$$

and

$$\sum_{k=n_o}^{\infty} \frac{1}{r_k \psi(b)} \sum_{i=k}^{\infty} q_i f(i, b) = \infty, \quad \text{for some } b > 0. \quad (31)$$

Then Eq (2) has a nonoscillatory positive solution of class K_∞^0 , where $K_\infty^0 : x_n \rightarrow \infty, \quad r_n \psi(x_n) \Delta x_n \rightarrow 0, \quad (n \rightarrow \infty)$.

Proof. Introduce the linear space X of all real sequence $\{x_n\}$ such that

$$\sup_{n \in N(n_o)} \frac{|x_n|}{R_{n_o,n}(a)} < \infty, \quad \text{where } R_{n_o,n}(a) = \sum_{k=n_o}^{n-1} \frac{1}{r_k \psi(a)}.$$

It is not difficult to see that

$$\|x\| = \sup_{n \in N(n_o)} \frac{|x_n|}{R_{n_o,n}(a)}, \quad x \in X, \tag{32}$$

is a Banach space [6, 8, 12]. Consider the subset φ of X consisting of all $x \in X$, such that

$$\varphi = \left\{ x \in X \mid a \leq x_n \leq a + \sum_{k=n_o}^{n-1} \frac{1}{r_k \psi(a)} \sum_{i=k}^{\infty} q_i f(i, a), \quad n \geq n_o \right\}.$$

We also define an operator $T : \varphi \rightarrow \varphi$ by the formula

$$(Tx)_n = a + \sum_{k=n_o}^{n-1} \frac{1}{r_k \psi(x_k)} \sum_{i=k}^{\infty} q_i f(i, x_i). \tag{33}$$

The mapping T satisfies the assumption of the Shauder's fixed point theorem. Namely, it satisfies the following

- (1) T maps φ into φ .
- (2) T is continuous.

In fact, if for $\epsilon > 0$, we choose $s \geq n_o$ so large such that

$$\sum_{k=s}^{\infty} q_k f(k, a) < \frac{\epsilon}{2}, \quad \text{for all } n \in N(s). \tag{34}$$

Let $\{x_n^v\}_{v=1}^{\infty}$ be a sequence of elements of φ such that $x^v \rightarrow x$ as $v \rightarrow \infty$. Hence since φ is closed, $x \in \varphi$, for all large v it follows that

$$\begin{aligned} \left| \frac{(Tx^v)_n}{R_{n_o,n}(a)} - \frac{(Tx)_n}{R_{n_o,n}(a)} \right| &\leq \left| \frac{1}{R_{n_o,n}(a)} \sum_{k=n_o}^{n-1} \frac{1}{r_k \psi(x_k^v)} \sum_{i=k}^{\infty} q_i f(i, x_i^v) \right| \\ &\quad + \left| \frac{1}{R_{n_o,n}(a)} \sum_{k=n_o}^{n-1} \frac{1}{r_k \psi(x_k)} \sum_{i=k}^{\infty} q_i f(i, x_i) \right| \end{aligned}$$

Since $x \in \varphi$, $f(n, x)$ is nonincreasing, $\psi(x)$ is nondecreasing positive value and $a \leq x_n$, then $\psi(a) \leq \psi(x_n)$ implies that $\frac{1}{\psi(a)} \geq \frac{1}{\psi(x_n)}$ and $f(n, x_n) \leq f(n, a)$. We have

$$\begin{aligned} \left| \frac{(Tx^v)_n}{R_{n_o,n}(a)} - \frac{(Tx)_n}{R_{n_o,n}(a)} \right| &\leq \sum_{k=n}^{\infty} q_k f(k, x_k^v) + \sum_{k=n}^{\infty} q_k f(k, x_k) \\ &\leq 2 \sum_{k=n}^{\infty} q_k f(k, a). \end{aligned}$$

This shows that $\lim_{v \rightarrow \infty} \|Fx^v - Fx\| = 0$; i.e., T is continuous.

(3) $T\varphi$ is uniformly Cauchy.

Let $x \in \varphi$ and $m, n \geq n_o$

$$\begin{aligned} \left| \frac{(Tx)_m}{R_{n_o, m}(a)} - \frac{(Tx)_n}{R_{n_o, n}(a)} \right| &\leq \left| \frac{a}{R_{n_o, m}(a)} - \frac{a}{R_{n_o, n}(a)} \right| \\ &+ \left| \frac{1}{R_{n_o, m}(a)} \sum_{k=n_o}^{m-1} \frac{1}{r_k \psi(x_k)} \sum_{i=k}^{\infty} q_i f(i, x_i) \right. \\ &\quad \left. - \frac{1}{R_{n_o, n}(a)} \sum_{k=n_o}^{n-1} \frac{1}{r_k \psi(x_k)} \sum_{i=k}^{\infty} q_i f(i, x_i) \right| \\ &\leq \frac{2a}{R_{n_o, n}(a)} + \frac{1}{R_{n_o, m}(a)} \sum_{k=n_o}^{m-1} \frac{1}{r_k \psi(x_k)} \sum_{i=k}^{\infty} q_i f(i, x_i) \\ &\quad + \frac{1}{R_{n_o, n}(a)} \sum_{k=n_o}^{n-1} \frac{1}{r_k \psi(x_k)} \sum_{i=k}^{\infty} q_i f(i, x_i) \\ &\leq \frac{2a}{R_{n_o, n}(a)} + 2 \sum_{k=n}^{\infty} q_k f(k, a). \end{aligned}$$

Since $R_{n_o, n}(a) \rightarrow \infty$ as $n \rightarrow \infty$.

Hence, for any $\epsilon > 0$, there exists an integer $n_1 \in N(n_o)$ such that, for $n \in N(n_1)$,

$$\frac{a}{R_{n_o, n}(a)} < \frac{\epsilon}{4}, \quad \text{and} \quad \sum_{k=n_1}^{\infty} q_k f(k, a) < \frac{\epsilon}{4}.$$

Thus,

$$\left| \frac{(Tx)_m}{R_{n_o, m}(a)} - \frac{(Tx)_n}{R_{n_o, n}(a)} \right| < \epsilon,$$

for $m > n \geq n_1$. This means that $T\varphi$ is uniformly Cauchy.

By Lemma 3, we can conclude that there exists, an $x \in \varphi$ such that $x = Tx$; that is, $\{x_n\}$ is a positive solution of (2). Taking the difference operator on both sides of (33), we get

$$r_n \psi(x_n) \Delta x_n = \sum_{k=n}^{\infty} q_k f(k, x_k).$$

Hence, $\lim_{n \rightarrow \infty} r_n \psi(x_n) \Delta x_n = 0$, which implies that $\{x_n\}$ is increasing for $n \geq n_o$, and $\{x_n\}$ either converges to some positive limit or diverges to ∞ as $n \rightarrow \infty$. Suppose that the first case hold. Then, this means that $x \in K_\alpha^0$, and so (24) holds. But this contradicts the assumption (31). Then $\{x_n\}$ is a positive solution of (2) belongs to K_∞^0 . \square

Theorem 5. *If Eq (2) has a nonoscillatory positive solution of class K_∞^0 , and $f(n, x)$ is nonincreasing, then*

$$\sum_{k=n_o}^{\infty} q_k f(k, aR_{n_o, k}(b)) < \infty, \quad (35)$$

and

$$\sum_{k=n_o}^{\infty} \frac{1}{r_k \psi(b)} \sum_{i=k}^{\infty} q_i f(i, b) = \infty, \quad (36)$$

where $a, b > 0$, $n \geq n_o$, and $R_{n_o, n}(b) = \sum_{k=n_o}^{n-1} \frac{1}{r_k \psi(b)}$.

Proof. Since $x_n > 0$ and $x \in K_\infty^0$. For any $a > 0$ and $b > 0$, by Lemma 4, there exists $m \in N(n_o)$ such that $b \leq x_n \leq aR_{n_o, n}(b)$, for all $n \in N(m)$. Since, f is nonincreasing, then

$$f(n, x_n) \leq f(n, b), \quad \text{and} \quad f(n, x_n) \geq f(n, aR_{n_o, n}(b)),$$

for $n \in N(m)$. Thus by Eq (2), we obtain

$$r_n \psi(x_n) \Delta x_n + \sum_{k=m}^{n-1} q_k f(k, x_k) = r_m \psi(x_m) \Delta x_m, \quad \text{for } n \in N(m). \quad (37)$$

Taking the limit of (37) as $n \rightarrow \infty$. Hence since $x \in K_\infty^0$, we have

$$r_m \psi(x_m) \Delta x_m = \sum_{k=m}^{\infty} q_k f(k, x_k), \quad (38)$$

since $x_n \leq aR_{n_o, n}(b)$ and $f(n, x_n) \geq f(n, aR_{n_o, n}(b))$, then

$$r_m \psi(x_m) \Delta x_m \geq \sum_{k=m}^{\infty} q_k f(k, aR_{n_o, n}(b))$$

This means that (35) holds. Now since by (38), we have

$$x_m = x_{n_o} + \sum_{k=n_o}^{m-1} \frac{1}{r_k \psi(x_k)} \sum_{i=k}^{\infty} q_i f(i, x_i) \quad \text{for } m \in N(n_o). \quad (39)$$

Taking the limit as $m \rightarrow \infty$, on both sides of (39), it follows that

$$\sum_{k=n_o}^{\infty} \frac{1}{r_k \psi(x_k)} \sum_{i=k}^{\infty} q_i f(i, x_i) = \infty.$$

But since $f(n, x_n) \leq f(n, b)$, and $\frac{1}{r_k \psi(x_k)} \leq \frac{1}{r_k \psi(b)}$, then we get (36). \square

REFERENCES

1. R. P. Agarwal, *Difference equations and inequalities*, Dekker, New York (1992).
2. S. S. Cheng and W. T. Patula, *An existence theorem for a nonlinear difference equation*, Nonlinear. Anal. TMA. **20** (1993), 193–203.
3. X. Z. He, *Oscillatory and asymptotic behaviour of second order nonlinear difference equations*, J.Math.Anal.Appl. **175** (1993), 482–495.
4. B. S. Lalli, *Oscillation theorems for neutral difference equations*, Comput. Math. Appl. **28** (1994), 191–204.
5. W. T. Li and S. S. Cheng, *Classifications and existence of positive solutions of second order nonlinear neutral difference equations*, Funkcial. Ekvac. **40** (1997), 371–393.
6. W. T. Li and S. S. Cheng, *Asymptotic trichotomy for positive solutions of a class of odd order nonlinear neutral equations*, Comput. Math. Appl. **35**(8) (1998), 101–108.
7. W. T. Li, X. L. Fan and C. K. Zhong, *On unbounded positive solutions of second order difference equations with a singular nonlinear term*, J. Math. Anal. Appl. **246** (2000), 80–88.
8. B. Szmanda, *Characterization of second order nonlinear difference equations*, Bull. Polish. Acad. Sci. Math. **34**(3-4) (1986), 133–141.
9. E. Thandapani, I. Gyori and B. S. Lalli, *An application of discrete inequality to second order nonlinear oscillation*, J. Math. Anal. Appl. **186** (1994), 200–208.
10. E. Thandapani, *Note on, Oscillation theorems for certain second order nonlinear difference equations*, J. Math. Anal. Appl. **224** (1998), 349–355.
11. Zhicheng Wang and Jianshe Yu, *Oscillation criteria for second order nonlinear difference equations*, Funkcial. Ekvac. **34** (1991), 313–319.
12. J. Y. Wong and P. Agarwal, *Oscillation theorem for certain second order nonlinear difference equations*, J. Math. Anal. Appl. **204** (1996), 813–829.
13. B. G. Zhang, *Oscillation and asymptotic behaviour of second order nonlinear difference equations*, J. Math. Anal. Appl. **173** (1993), 58–68.
14. B. G. Zhang and G. D. Chen, *Oscillation of certain second order nonlinear difference equations*, J. Math. Anal. Appl. **199** (1996), 827–841.

Mohamed M.A.El-Sheikh works as a professor of Mathematics in the department of Math., Faculty of Science, Menoufia University since 2000. He is a staff member in Menoufia University since 1988. He has got his Ph.D. in Differential Equations in 1985. He got his M.sc. in 1979 and his B.sc. in 1974. The research interests are qualitative properties of solutions of Ordinary Differential Equations and Applications (like as oscillation, stability, and bifurcation)

Department of Mathematics, Faculty of Science Menoufia University, Shibin EL-Koom, Egypt

M. H. Abd Alla works as a lecture of Mathematics in the department of Math., Faculty of Science, Benha University since 2000. He has got his Ph.D. in Differential Equations in 2000. He got his M.sc. in 1996 and his B.sc. in 1990. The research interests are qualitative properties of solutions of Ordinary Differential Equations and Applications (like as oscillation, stability, and bifurcation)

Department of Mathematics, Faculty of Science Benha University, Benha 13518, Egypt

E. M. EL-Maghrabi works as Asistente lecture of Mathematics in the Department of Math., Faculty of Science, Benha University since 2005. He has got his M.sc. in Difference Equations in 2005 and his B.sc. in 2000.

Department of Mathematics, Faculty of Science Benha University, Benha 13518, Egypt